Math-110 College Algebra
Fall 2007
8/30/07

Note: Show all work. Correct answers without support will receive at most half
credit. Incorrect answers without support will receive no credit.

Name: SO‘ v \0on (7!)]0[5»

Quiz 1
#1 Given the function:

z z < L
flz)={ 108 0g%T<3
242 >3

find f(~1), f(0), £(2), £(3), and f(4).

fEN = 2-=-

{(0)=10%

1{(2,) = |D§

{(3) =103

() =) r1=18

# 2 Write the polynomial 4z(z% + 3z) — (z — 2)(z + 6) in simplified form.

X (K 3X) = (6-2) (b )= e 1 = (X M - 12)
=120 - g 412
=Y -1 2



#3 Let f(x) = %2- Simplify the following expressions:

a) fty-3)=-3)+2 - y-|
I(y-3) 3y 3)

bIf3-7)=0- 42 = 5.y
3(3-7)  30Gy)

Q) y-{3)=y 342 =y b

33 9
A) {t)-y3)= y+2 5
iy 9
#4 Determine the zeros and domain of the function f(z) = 3@

Zevos'
The numerator must equaul O.Thwm@wg

\l 2x+7 = ()

= Ix+7=0
Lx =-77
X==-7
ADU\MGM‘,

Fws% W wmest peKe spre that!

1x+7>D (Can't+ +uke \S"'gr G h,:?a#m
humber

= X2-7,
N exr W huve to b
| ¢ Sure Yhet w on+ vt
\7)/ 0. TLCré-Fbr{) “T we Dl?”" d,\vde
X#£3.

NOW; beth of these sturements wmost be ¥rue. So

EZ""Z and x#3,

Ov, 1n ‘nYerval notation’

D' (% .2 U 3 00) & Smmc(pm—m—.
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